Key Vocabulary

Maths Knowledge Organiser (Autumn 1)

place value - the value
of all the digitsin a
number. For example,
in the number 62, the
digit ‘2" is worth 2 and
the digit ‘6’ is worth 60

partition - when you
split a number into
parts

addition - finding the
total value of two or
more numbers. We use
the symbol ‘+

sum - the result of
adding numbers
together

ordering - putting
numbers in the correct
order according to
size. Ordering also
involves using the
greater than, less than
and equals symbols (<,
> and =)

subtract - taking one
number away from
another, finding the
difference between
the two. We use the
symbol ‘-
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